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SECTION - |
MATHEMATICS & SCIENCE

1 The molarity of pure water is (density of
water =1gm| 1)

(A) 55.55 M
(€444 mM

(B) 66.66 M
(D) 45.55 M

ra

Which of the following is not a colligative
property ?
(A) Optical activity

(8) Elevation in boiling point
() Depression in freezing point

(D) Relative lowering in vapour pressure

3. Which of the following is not a good
conductor ?

(A) NaCl(aq)
(© NaCl (molten)

(8) NaCli(s)

(D) Cu metal

< A convex lens is in contact with concave
lens. The magnitude of the ratio of their

2
focal lengths is g Their equivalent focal
length is 30 cm. What are their individual

focal lengthsincm ?
(A) =75, 50

(9 -10, 15

(8) -15, 10
(D) 75, 50

5. An artificial satellite moving in a circular
orbit around the earth has total energy [PE +
KE] E,.Its potential energy is

i - I

o gd s
UE Tl P Wawar & (S B ued = 1
gm L)
(A) 5556 M
© 44.4 M
Praferfaa # A soRiEd o1 TE § -
(A yerea frarderan
(B) FqYATH BT I~IA
© f&w\is &1 g
(0) qTEGTY HT AMfEH T

(8) 66.66 M
(0) 4555 M

frefoRa # & o9 w1 gareas T € 2
(A) NaCl(aq) (8) NaCl(s)

(© NaCl (Remwgar) (D) Cy ©Tq

TF Ide o adel o & 9D H © |
T WHE gRIAT H AU BT
gRwTT §%|saaﬁmgmqﬁmqa

30 WA T | SAB JAT-AAT BB A
. ¥ enft -

(A) -75, 50 (8) -5, 10

© -0, 15 (b) 75, 50

TF FOM STE o RA § IR IR
T W T W@ B, B D

(A) E, &) —E, ! ffas et 8@nft -
(€) 15K, (D) 28,
Page: 2 6147




10.

In a single throw of three
probability of getting a total of 5

dice, the

(A 5 ® 1
216 216

© 1 © 5
36 108

Nessler’s reagent is used for the detection of
(A K* (8) NH;

© Cu?t (® Na*

Which ore contains both iron and copper ?
(A) Chalcocite (8) Malachite

(©) Cuprite (D) Chalcopyrite
A bomb of mass 9 kg explodes into 2 pieces

of mass 3 kg and 6 kg. The velocity of mass 3
kg is 1.6 m/sec. The kinetic energy of mass 6

kg is
(A) 2.92 Joule () 3.84 Joule
(€) 1.92 Joule (D) 9.6 Joule

The number of moles of KMnO, that will

be needed to react completely with one
mole of ferrous oxalate in acidic solution is

10.

dF Rl & UHd SVl W Hol AT 5

IA D wilRrear Brft -
(A) 5 (8)
216 216
() 1 (D)
36 108
AR ANHHF HT ITANT TaT T B
forg [
A Kt (8  NH;
(€ Cu?*t (D) Na*t

o9 1o s A der qun dtar EF 2
(A) greprRITSe (8) Hgrse

© RT3 (D) ATeDHIURRIZE

9 kg THH B (& 97 fAWhle & qrg
3 kg IR 6 kg & < gHSl H dear & |
3 kg w9 &1 47 1.6 WAL T | 6 kg
SHHE B TS SHott a8 -

(A) 2.92 a1 (B) 3.84 [T
© 192 S (D) 9.6 e
KMnO, & ¥l @& W@ S bR

JdiFicilc & 1 Al q el faams #
o fohar & forg smavms ® -

W 3 (8) 1 @A) 3 ®) 1
5 5
(@ 4 © 2 © 4 (D) 2
Page: 3 614754



. Which of the following behaves both as|t fpy & | @ Tfye=E oo

nucleophile as well as an electrophile ? gaR A A @ e drd wRar € 2
(A) CH5CN (® CH,CHO (A} CH4CN (8  CH;CHO
(© CH;Cl ©) CH,OH (©  CH,CI () CH;0H

2 In Friedel Crafts alkylation, besides AlC,, | Wied ®IGe & TeAdRT & Alcl, &

the other reactants are Aorar e & -
(A) CGHG + NH3 (8) CGH6 +CH3Cl (A) C6H6 +- NH3

(@ CcH¢ + CH;COC! ()  C.H, + CH,ClI

©) C¢H¢ + CH, ©  CgH, + CH,COCI
(®)  C4Hg + CH,

13 The value of x in the following series : 13. fy=fRag 2oft & x @I H1 B -
146+11+16+.......+x =148 1+6+1M+16 + ... + x = 148
(A) 39 (8) 36 (A) 39 ® 36
(€ 37 (o) 38 (€ 37 () 38

“ Rootoftheequation 3x2 4+ 7ix+ 6=0 |1 gftexor 3x2 4+ Tix+6=0 Hed B

(A) 2 (8) 3i, 2i B) 3i 9i
3 '3

(© 2 o 3. 2 D 3

2hsh 31,51 £ BT sl Tl

5. The work done in placing a charge of |15 40g AghhRe giar & OuiRE §
8 x 107*® Coulomb on a capacitor of 8 x 10-18 @a‘-fq BT AP TG H B

capacity 100 microfarad is HET B -
(A 16 x 10732 Joule (A) 16 X 10732 3o
(8) 3.1 x 1072° Joule (8)

3.1 x 10726 o
@ 4 x 10710

© 32 x 10732 I

© 4 x 10719 Joule

®) 32 x 10732 Joule

MR



6. Ina AABC, AB= 6.3 cm, AC=12 cmand

BC =6 cm, then the angle B is
(A) 9Q° (8) 60°

(@ 120° (D) 45°

17. A small metal ball is suspended in an
uniform electric field with the help of an
insulated thread. If a high energy X-ray
beam falls on it
(A) The ball will not deflected at all.

(8) The ball will be deflected in the direction
of field.

(€) The ball will move to infinity.
(D) The ball will be deflected opposite to the

direction of field.

18 .
The nucleus resulting from zziu after

successive emission of two q-particles and

four (-particles is

o Uh BT aABC W AB = gy3 O,

AC = 12 ¥l @1 BC = 6 I & @
BT B H A @I

(A} 9Q° (8)  60°
(@ 120° (b)  45°
7H B h B e quad g @)
Wl W (HuAE fage & d dears
St € | Of g S= e @ X-ray

(A) g fqafq =8t anft |
B dga & = fezm ¥ R{afE et
(© g ¥ W deil S |

(nlgaﬁa@mﬁﬁqﬁamnﬁﬁaﬁa
|

BB XA I YW AR RO &
92

(A) 230 (B) 230 Py Th

aaPu o0lh 94 )
© 23 (0 23 © 230 o) - 23

gg"o 9;?“ agh 920U

19 If a body loses half of its velocity on|t. Ify o avg dds! & Th THS W 3
penetrating 3 cm in a wooden block, then| I dqg=1 & aEm 7 @ =& L, @ =
how much will it penetrate more before| fhaar R dJ8a7 N Y &
coming to rest ? faRmTawr § 31 WU 2
(A) 3cm (B) 4 cm (A) 3 cm (B) 4 cm
(©) 2cm (D) 1cm © 2 cm (®) 1 cm
Page: 5 614754
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20. At the magnetic poles of the earth, a
compass needle will be
(A) Vertical (8) Bent slightly

(€) Horizontal

(D) Inclined at 45° to the horizontal

21. The rate constant for the first order reaction

is 60 s~ 1. The time in which it reduce the

t
concentration of the reactantto L
16

h
value

is

(A) 46 seconds

(8) 4.6 x 1073 seconds

(© 4.6 x 102 seconds

(D) 2 seconds

2 A body cools from80°C to64°C in 5
minutes and same body cools from 80 °C to
52°C in 10 minutes. What is the
temperature of surroundings ?

(A) 22°C (B) 24°C
(@ 28°C (D) 25°C
<3

The length of a cold storage is double its
breadth. Its height is 3 metres. The area of
its four walls (including doors) is 108 mZ2.

Its volume will be

e —

mwﬂ;wﬁ-ﬁﬂ@ﬂ@ﬂﬂaﬁ
¢ Bl -

(A) Feafer

6) geat M FH B

(© afror

(0 & A 45° W FH &

2w @fe @B TE ANET w owx

ReRi® gost © | 98 g forw
. h
sfveRe #1 g LT AE < s

16
3
(A) 46 AHISH

(B) 4.6 x 107 dwvs
(©) 4.6 x 1072 dovsw
@) 2 AHUSH

2 uF Fed gooc ¥ g4°C IS IV 5
fFe & &1 & a9 98 e goeoc
52°c d& ovel 10 fMe § Bam ® |

IR & qIAERY BT d19 BN -
A  22°C (8) 24°C

(©  28°C (b)  25°C

B 0% AWd I8 & dWEIE ISP S D
AT R | TR Sur 3 AT | A
IRI NaRT (SRaTsi afed) o1 aaed
108 %2 € | 99 uIE &1 mua+ &N -

(A) 206 m3 (B) 416 m? (A 20653 B 41643
© 316 m3 ®) 216 m3
o @ 31643 © 2164

TR




24. Percentage errors in the measurements of
mass and speed are 2% and 3% respectively.
The error in the estimate of kinetic energy
obtained by measuring mass and speed will
be
(A) 12%

(€) 10%

(8) 2%
(D) 8%

25. In what ratio does the point (-4, 6) divide

the line segment joining the points A(-6, 10)

25,

AR 917 & WA A g afas ol &
JdHAT § Ffe arft -

(A) 12% (B) 29%

© 10% (D) g%

A et A6, 10) @M B(3, -8) B
Sed aTet Y@rEE B g (-4, 6) b

and B(3,-8) ? % dtem
(A)3:7 (8)4:9
A) 3 :7 (B) 4 : g
(€ 4:5 (©2:7 B ik 0F 5§ %
26. CH; —~CH-CH, —~OC;Hg |2 CH3; —CH-CH, —OC,Hs
IUPAC name of ] ] @1 JUPAC -H
OH OH
is -
(A) 1-Ethoxy propan-2-ol (A) 1-TATRT 9TU-2-3i7et
(8) 3-Ethoxy propan-1-ol (8) 3-vfll UIU-1-3ifet
(C) Ethoxy pentanol (@ vl 9
(D) 2-hydroxy-3-pentanone (D) z.gg;;ﬁqqﬂ.g,.ﬁﬁq
27. If the arcs of same length in two circles |27. TN oW1 & =19 &1 g4 & % |
subtend angles of 60° and 75° at their 60° R  75° & BT g9 & q 97
centres, then the ratio of their radii ?{Fﬁ # Breaiat a1 3T BRI -
(A)5:4 B)6:7 (A)
§ 24 (B) ¢ : 7
©7:8 D) 4:
¥a i © 7:8 D) 4 :7
= Realvalueofxandy,ifx_1+ y_1=i 2 afg x-1+ y_1=i @ x AR y @
341 3-i 341 3-—=i
(a) 7,-7 (8) -2,5 qrEfd® 99 BN -
(©) -10, 12 (D) -4,6 (A) 7, -7 (B) -2 5
© -0, 12 (D) -4, 6
Page: 7 614754
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P x =3_2y7 then xZ+ Zwillbe
X

() 36

(©) 24

(8) 30
(D) 34

30. The half-life period for a zero order reaction

is equal to
(a) 0.693 ®) [A],
K 2K
(© 2K (o) 0.693
[al, K[Al,

31. The length of the minute hand of a clock is
14 cm. The area swept by the minute hand

y 3
29v‘ﬂﬁx=3#2\/§€fi-ﬁx2+x_zaﬂﬂﬁ

(A) 38 (8) 30
(€) 24 (D) 34

30.

™ e # affhw & fav od ey
A 6] © -

(A) 0.693 ®  [A],
T 2K

(c) 2K (o) 0.693
[l K[Al,

h B B e areft g H o 1
Jf 2 | e arelt 9 & g1 5 e #

31.

in 5 minutes. FHar ST T &3 BT AFABA BRI -
(A) 154 (8) 154 <4
— cm? — cm? . 154 282 w1 a2
3 6 3 6
© 154 (© 154 (© 154 (o) 154
— cm ——cm " % s g
9 12 9 12
N~ _n ;
32 |f nPr="Pr+1and Cr = Cr+1’ then the |32 Ffe nPr =nPr+1W ncr =r‘lcr+1?n' n
valuesof nandr
(A)n=5,r=4 B)n=2,r=3 Trﬁmm'm
(@ n=3,r=2 () n=4,r=5 n=97T=4 n=2r=3
'lqn=3'r=2 |[Dj‘ln=4'r=5
33. The water droplets in free fall are spherical | 33. W fir & 9t @ {g’[ BT
dueto IFHR MeAdR fHad SR Bar & 2
(A) Gravity (B) Viscosity (A) o (B) 3g=4r
(€) Surface tension (c) PABGEICH
(D) Intermolecular attraction (D) IJ=RIIAH THYT
3. Which of the following does not have a|3. fy=foReg & 1 faud mg-amf:[ a9 T8
metal carbon bond ? 22
(A) Ni(CO), (8) AI(OC,Hs); (4)  Ni(co), )  AI(OC,Hs),
(© C,H;Mg Br (o) K[Pt(C,H,)Cl;] (©  C,H:MgBr
o)  K[Pt(C,H,)Cl;]
Page: 8
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3. A particle is projected at

3r.

60° to the

horizontal with a kinetic energy K. The
kinetic energy at the highest point is

a) K (B) zero
7

(€ K o) K

4

. A 25 watt-220 volt bulb and a 100 watt

-220 volt bulb are joined in series and
connected to the mains. Which bulb will
glow brighter ?
(A) 25 watt bulb

(8) Both will glow with same brightness

(C) First 25 watt bulb and then 100 watt
bulb

(D) 100 watt bulb

Three masses are placed on the x-axis : 300
gm at origin, 500 gm at x = 40 cm and 400
gm at x = 70 cm. The distance of the centre

of mass from the origin is
(A) 40 cm (B) 50 cm

(C) 45 cm (D) 30 cm

The perimeter of a triangular field is 450 m
and its sides are in the ratio 13 : 12 : 5. The
area of the triangle

(A) 5670 m>2 (8) 6570 m?

(®) 6750 m?

(©) 7560 m?

35.

37.

TF &0 K TR et & 8 ¥ go°

HU ) yalg fFar 9 8, @ S=aH
fig w 7= St &nft -

(A) E (8) i}
2
€ K o K
4

25 9l -220 dlec B TP ded HI 100
giec 220 dlce & WX g9 A Ao0HH H

Seey g=& Reg @9 wER) A S
WEr € | 9 9T 9d A¥S THST ?
(A) 25 g€ & geq

(8) QI god IHIF THD |

(€ U8l 25 9Tc HT ded fx 100 dIc T
o

(D) 100 dTC &T §eq

a9 gEuE -8 W), 300 gm B Yo

f&g W, 500 gm F x = 40 W W
AT 400 gm FT x = 70 VA R YW TN
R it B B O O
2rft -

(A 40 I (8) 50 9.

© 45 39 (D) 30 9.

6 PBromer @d &1 g™ 450 A @

T FHBT ol BT A 13 ;12 : 5
2 | PreeR ¥d &1 &3%d B -

(A) 5670 # B 6570 #

© 7560 D) 7507

Page:9
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39.

. gfe

that

If tanx 4+ secx = /3, such

0 < x <, then x is equal to

(A) 51 (B) T
3 3
(© 2n o)
3 6

If pendulum bob on a 2 metre string is | 4o0.

displaced 60° from the vertical and then

released, what is the speed of the bob as it is
passes through the lowest point in its path ?

© VZx98m/sec @ 1 m/sec
V2

L

tan x + secx = V3 STqfe
0<x<m @ x B AF BW -
(A) 5T Bl 2
_g 3
© 2m o T
El 6

I UF Urged® dld S 2 W B S
daT 8, B FEER A 60° W & Wiaw

BIs foar a1 & | 9l &1 I gy gy
fram fdg ¥ ORT W a7 =1 Bnw 2

W 7 AR (B) 4.43 HRY.
© z2x98 WAL @ 1 AR
V2




SECTION - II
MECHANICAL ENGINEERING

41 A small % of boron is added to steel in order

to
(A) Increase wear resistance

(8) Increase hardenability
(€©) Reduce Machinability
(0) Increase endurance strength

In sheet metal blanking, shear is provided on
punches and dies so that
(A) Good cut edge is obtained

(8) Cut blanks are straight
(©) Warping of sheet is minimized

(D) Press load is reduced

A hacksaw blade is specified by its
(A) No. of teeth (8) Material

(O Width (D) Length

The formation of frost on cooling coils in a
refrigerator
{A) Increases power consumption

(8) Improves C.0.P. of the system
(©) Increases heat transfer

(D) Reduces power consumption

_ Iron ore is, usually, found in the form of

41

42,

45.

RULRLUNEED § |

YPwa goffraft

axrT @ v ufyee arEn @t #§ SUd
B W o ¥ ford frarht o 2
AW ze-pe 8 A ufRedda 437 2

(®) HARAT 4a1 & ford |

© wiAfRferd &0 & & ford |

(0) FASRRT AT 431 B |

e dAed @) wifhr & & Maw Gq

IR =g A H Rur oren 8, PR %
(A HfET B BR e 47 TP |

®) H gY wid W B
(© dfie &1 g1 &7 A FA B |
(D) g9 YR H49 fhar <1 9 |

. e B feow fAfde fFar s

2?
() <ft @t e (8) =g
(© e (D) TS

. fbor # fert Af@relt W W T &

PR BT ©
(M) fie@ # @Ud 9% S © |

®) ey @ e e A g
(€ I TWIFE=RY H fg
(0) fie@ # @Id $9 & Sl ¥ |

dle o, geEaa: fda w9 A 9r Srd

(A) Sulphides (8) Carbonates g7
(©) All of these (D) Oxides (A) TopIgS (8) HrEAT
© 7 i (0) JifeTES
Page: 11 614754




e

s6. The absolute zero temperature is taken as
(A} 237 °C (8) -273°C

(© -237°F (© -273°F

The property of sand due to which it evolves
a great amount of steam and other gases Is

47.

called
(A) Permeability (8) Cohesiveness
(€) Collapsibility (D) Adhesiveness

" The overturning of a vehicle on a level
circular path can be avoided if the velocity

of vehicle is -
(A) Greater than \;’gra
h
(8) Less than Jera
h
() Both greater and lessthan _/gra

h

(D) None of these

43 In a bilateral system of tolerance, the

tolerance is allowed on
(A) One side of nominal size

(B) Both side of actual size
(©) One side of actual size

(D) Both side of nominal size

The amount of heat required to raise the
temp. of unit mass of gas through one
degree at constant volume, is called-
(A) Specific heat at constant pressure

(8) kilo joule
(©) Specific heat at constant volume
(D) None of these

46.

47.

49,

?Fﬂi’,']"c ® -273°C
@  -237°F (0 -273°F
W " o
| @1 ag o fad &N
e 3R o At B e ® S
&, e § iy
(A qRfAgffere! (B) RIS
© pafwffad (0 SRS

T B ey gAeR T W 3aR-efi
Jq BT & ford, ML B 4T A AMCY

(A) \[g_m'ﬁaﬁﬁﬁ (8 /gra X FA

h h

© [gra ¥ At 3R H9 Al
h

©) T A PIS T

feuela croR=g "omelt #, TR @l
Fafy = & 5 yar Bl & 2
(A) HERT MHER & ThH AR

(B) qrEfds MBR & SFT 3R
@ TRF AT $ TH IR
(0) |AERY JMHR & SHI AR
&t ™ F i gEmE @1 agEE
1°C, ¥9M 39 W, doM & fo

YD TH HEATdl &

A T 9 ) e 9w
®) St ot

O TF e R fAfre 9w
© ¥ W 7 T

— 6

AU *



51.

52.

A differential pulley block has larger &
smaller diameter of 100 mm and 80 mm
respectively. It's velocity ratio is

{A) 20 (B) 10

()5 (D) 40
A circular hole of 50 mm dia. is cut out from
a circular disc of 100 mm dia. as shown in

below figure. The centre of gravity of the
section will lie

51.

52.

UF AT ufear 9 eR1, e 31 9
BIST & HEYE 100 mm 99T 80 mm

O

D D
(A) in the shaded area (A) Bifed &9 7 (B) B ¥
() in the hole © fag 0 w® 0) 3 q I T
(C) at point ‘O’ (D) None of these
53. Brass is an alloy of 5. g0 U 9% °1q §
(A) Copper and Zinc  (B) Copper and tin (A) TR AR RNic (B) Hw gar 9
(©) Copper, tin and zinc 0 #qR, o5 iR Riw
(D) None of these 0) S99 A DI &
s4. An isothermal process is governed by 5. Uh GHATYl UHH B A ewar @
(A) Gay-Lussac law  (B) Boyle's law (A) fr-oBﬁaa &1 |
(€) Avogadro’slaw (D) Charle’s law (8) g1 &1 oy
(O JErTEY BT Ry
@) Ired &1 fFraw
Page: 13
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S5 According to Avogadro’s Law, the density of
any two gases is their molecular
masses, if the gases are at the same
temperature and pressure.

(A) equal to

(8) directly proportional to
(€ Inversely proportional to

(©) Not equal to

S8 What is the no. of jaws in self-centred
chuck?
(A) 3 (8) 4
Q8 (0) 6

$7 The section view drawing in which one
fourth of an object has been marked for
removal is known as a section.
(A) Full (8) None of these
(© Quarter (0) Half

8 The efficiency of a lifting machine is a ratio
of
(A) All of these
{8) Work done by machine to the Work done

on the machine

(©) Output to the input
(D) Mechanical Advantage to velocity ratio

¢ The electrode tip diameter ‘d’ in spot

welding should be equal to (where t/
thickness of plate to be welded)

A 15V ) 3./t

~—

Vvt

Wi

65

57.

59.

- SELY

BT WA, :mmf?rc{s TEHE ¥
grar &, afd RN & ammre 4

qiq I 8 |

(A) qqaR (8 rrareR

(©) (0) qurqe =Té}

[ [§ ¥ L1

(A) 3 (8) 4

© 8 © e

foslt ot T & VAT G F 0 o
AT B BIC B AT B fQar siren 2

Ie TGS PEdr ¢ |

(&) g O ¥ B
(© ve =@ 0 g

IS 7AW qEar T ¥ X e
IUTT Bl ® 2

(A) I T

) FAT gv1 o1 & &1 7 W far
T HT

(€ 3R—eYe #1 39 A

©) Fifys a1 B ST ¥

wWie =T § goage Ry &1 @ o
Fr1 & 5y weffa o et w ¢t =
S S aTelt ey @ Aerd)
W 15Vt ® 3t

@ vt 6Vt
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60. In ideal machine, mechanical advantage and
velocity ratio is
(A) Equal

() No relation in both

(B) Not equal

(D) None of these

61. The periodic time of one oscillation for a

simple pendulum is (Where | = length of the

61.

0. e 7 & oy Iif¥e am IR

UG HT U BT § -
(A) qRTER (B) quTqx &

© = F P I L
(©) 74 A BIg 7l

Uh qdd & ford, IR Medd T AT
FlAd Bl € - (Bl W | = AP &

pendulum) )
(A} 1 [g (B) 1 (A) 1 <E (8) 1
% T 2n |- — = 21 pud)
g 2Nl g
(c) (D)
2nﬁ 11 e L LR
2m (g 1 2n.lg
62 Percentage of Carbon in cast iron varies |62 S JRRT H HIa7 bT Ufed 9T &
from (A) 01 05 () 0.5 I 1
(4) 0.1t0 0.5 (8) 0.5t01 &5 3 4w O 47 3 i &
(©)1to1.7 (D) 1.7to 4.5
63. Crystal structure of a material is generally, | 3. fHdft ueTd P e Ivg=T & WEd &
examined by (A) 979 IfET g
. ®) yHrehy geed g)
(8) Optical microscope © &rg -\rim R
(€) Metallurgical Microscope ©) TEX dHEF BRI
(D) X-Ray techniques
64 The cold chisels are made by 8. g1 dIed B Bl B fow e & a9
(A) Drawing (B) Forging ST § 2
(0) Piercing (0) Rolling (A g fafy ®) wifSeT fafer
© #eT fafr (o) Afeir fafr
Page: 15 614754

T
|




85 The efficiency of diesel cycle increases with

(A) decrease in cut-off (R) increase in cut-off

(©) constant cut-off  (0) None of these

Which of the following is a scalar quantity ?
(A) Speed (B) Velocity

(O Force (D) Acceleration

A ladder is resting on a rough ground and
leaning against a smooth vertical wall. The
force of friction will act

(A) Downward at its upper end

(8) Perpendicular to the wall at its upper
end

(O Upward at its upper end

(D) Zero at its upper end

The type of file used for a wood work is
(A) Any of these (8) Double cut file

(©) Rasp-cut file (0) Single-cut file

In arc welding, the electric arc is produced
between the work and the electrode by
(A) Voltage (8) Flow of current

{0 Contact resistance
(D) All of these

The value of 1 mm of Hg is equal to
(A 1333N/m* (8 1333N/m’

O 1333 N/m? ©) 1333 N/m*

Hikni

65

67.

69.

10

o am B ween e F X Ry
agdl ® 2
(A FHe-aiftp & &7 HE W

(®) @we-aifts & aq A
(©) @e-aitp & Rew wa e
(0) gy A B Adl

- ufd sfder afr & 2
N At (8)
(©) qof (0) cavor
UH WP, N B GrEy ad wowd @
AR fAamdt flaw & usr A & 1wy

dad v fRem & &rd &3 2
A T8 R I fra ) i

B8) FuH AR W, EqR A dHgad
© FI98 AR A7 IR F 3R
© FT& RR w® = B |

= 4 a9 | X} @ Ea) & w@m
dadel & B A fhar war € 2

W AR B R H

€ Yg@e [ (0 tHd-ae W&
Idh e ¥, g R srfave
IS & T fOd g1 SO @

St ® 2
(A favg grr

8 fgd am1 & g™
© viud gfede gwr
© A If

1 mm Hg (YR) & W9 auaw &en &
(A) 1333 N/m* 8 1333 N/m?

© 1333 N/m? ® 1333 N/m*
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1. Carburising flame is used to weld

74.

(A) Hard surfacing materials such as stellite

(8) Brass and Bronze

() All of these
() Steel, Cast iron, Copper, Aluminium etc.

Galvanising is a
() Process of coating zinc by hot dipping

(8) Process used for making thin phosphate
coating on sheet

(c) Zinc diffusion process
(o) None of these
Which of the following welding process uses

non-consumable electrodes ?
(A) TIG Welding (8) MIG Welding

(c) Manual Arc Welding
(0) Submerged Arc Welding
The point through which the whole weight

of the body acts, irrespective of its position,

is known as-
(A) Moment of inertia (B) Centre of gravity

(€) Centre of percussion

(D) Centre of mass

72.

73.

74.

W@ﬁﬂmﬁaﬁ@wﬁﬂmﬁm

warT fear S ® 2

(A) FIR I8 aTar g IR WeTse

®) dger R HRM

© A i

O, dadl over, dfar, qegAitEE
e

edamefin ded €

(A gfe ffthr grr Rie dIfET wshH

@) Wie W Tdd BB P HIA B
wehH

© Riw ferge ahd

(0) 374 9§ Py el

e 4 Q@ PR ST wmw # IgE

goars &1 YA e ST ® 2

(A) TIG afesT (8 MIG 3feET

(€ ¥erad I dfesT

(D) gHwS 3h dfesT

FE W Rvs 9 g fpe & Rafa 4

2l $7 98 fdg W8l W @ WA R
S Bl &, DeaATdl €

(A S gt (B) o b
(O IMETT be (D) AN &%
Page: 17 614754



7s. The force induced in the string AB due to
load ‘W’, as shown in the below figureis

A
C 9 lB
W
(A) Wsin8 (8) W cosecB
(© WsecB (D) W cos 6

The Chisel used for cutting key ways is
(A) Flat chisel (B) Cape chisel

(©) Round nose chisel

(D) Diamond pointed chisel

A taper provided on the pattern for its easy
and clean withdrawal from the mould is
known as

(A) Machining allowance
(B) Draft allowance
() Shrinkage allowance

(D) Distortion allowance

For high speed Engines, the cam follower
should move with

s ey T R # e AB A AR W
JeHM N IO IRT el BT AF B

A
C 0 lB
w
(A)  Wsin®8 (8) W cosec 6
() Wsec8 (D) Wcos 8

% gl "HIE B g9 b ford dE-AT B
TART B S §
(A) [gre B (8) &g BT
€ IHs A B+
0) SrHs e Bl

7. %4 ¥ TR Ww TH, dHies g
ARTHIgd®d T wewar A o
mmﬂﬁa—mmagﬁaﬁ?—iﬂqﬁ
FEd &
(A wiifT ge
@ figsT ge
(©) feer ge (@wu ge)

B Ff SoET Y, I R BARR @
IAAT BT B

) g e

(A) Cycloidal motion (A) g Ty
(8) Uniform acceleration and retardation (B) I ©ROT 7T H
(€©) Simple harmonic motion ©) IS IJ[ad 1 F
(D) Uniform velocity ) ¥ T ¥
Page: 18 614

HEVAR




o The most probable velocity of the gas
| molecule is given by

(8)

@ kT SKT
py m
0 L

© I3k jzm
\. m m

s The standard no. of threads per inch for
various diameter is the
{A) Thread pitch (8) Series of thread

(©) Major diameter (D) Lead

s+ The centre of gravity of an isosceles triangle
with base ‘3’ and side ‘b’ from its base is

(A 4a3% —b? (8) a? + b?
6 4

© VaaZ- b2 D) a2 — h?
6 4

The distance a screw thread advances
axially in one turn is the
(A) Turn (8) Crest

() Pitch (D) Lead

81.

82

W &
B BT URHIOT
(A) ; (8)
KT 5KT
jll F_'[T
9 Jakr O fakr
m ‘m
wEe Wy O iy g9 gfedl @ e,
fafy=r = & ford &y &
(A gt fg
(8) gfyat @t sf@er
© ftrHay @m0 offs

T YT b T, W P b= gD
IR A T W BT 2 |
W 422 —b2 (B a2 4+b?

6 4
© V3aZ_pZz (D a2 —b?

6 4

g g &1 Ue 9% T9H § Wb EN
e w9 # aferd g Fear &
(A TG (8) R

© fog D) fis

&. The fullers are used 8. Bl & FarT fHar Srar @
(A) for finishing flat surfaces (A) T el B P P |
(8) to finish the punched hole B g9 g B 9 e &= §
(©) for punching a hole © Bg T & ford
(D) for Necking down a piece of work (D) HrAEve A AFT T
8. Castironis 8. HIEC AT BT &
(4) Ductile material (W) T gered (®) Peey warf
(8) Malleable material (€ R garef (0) HIN qaref
(©) Brittle material (D) Tough material
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85,

87,

Which of the following is the lightest and 85 fpsy & X HF-TT FuT WG TodT T4

most volatile liquid fuel ?
(A) Fuel Oil

(€) Petrol

(B) Kerosene

(D) Gasoline

The moment of inertia of a thin spherical
shell of mass‘m’ and radius ‘r', about its
diameter is -

(A) 3mr2/5 ) mr3/3

© 2mr?/3 ©) 2mr2?/5

The resultant of two forces ‘P’ and ‘Q’ acting
atan angle ‘g'is expressed as

(A) VP2+ Q2 - 2PQ cos 0

® JP2+Q2-2PQsin

© /P2y Q2 + 2PQ cos 6

© /P2+Q2 + 2PQsin®

The accuracy of micrometers, callipers, dial
indicators can be checked by

(A) Slip gauge (B) Plug gauge
() Ring gauge (D) Feeler gauge

The heat transfer in refrigeration system
takes place according to
(A) Kirchhoff's Law

(B) Zeroth law of thermodynamics
() Second law of thermodynamics

(D) First law of thermodynamics

B6.

87.

88,

89.

TR VT STATMNA TR T & 2
(A) g qoT (8) FHIRf

© Y () Afeft

UF gdd Mol @d, RRmdT gera= 'my
an B ¢ & @& we@ eyl S
I & Rer Brar @
(A} 3mr?/s (B)

©  2mr?/3 (D)

mr3/3

2mr? /5

RUIS ST P O T | < S
DU W HRRG € TS uRUTH @y
yaRia &var &

A /P24 Q2- 2PQcos 6

®  JP2+Q2- 2PQsin 6

@ /P24 Q% + 2PQcos6

©  /P24+Q? + 2PQsin 6

gedl B 5 yor Mg e sir
8?2

(A) Rag A5t (B) T A

© f&a7 I D) fHaR 9

fPd weiias e § ISy R
fPus R g &

(A fHErs o1 e

T
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91

h of the following gas is mostly used in

rown for street and domestic lighting and
heating ?
(A) producer gas (B) Coke oven gas

(©) Mond Gas (D) Coal gas

Thread rolling is restricted to
(A) Ductile materials (B) Ferrous materials

(c) None of these (0) Hard materials

glanking and piercing operation can be
performed simultaneously in a
(A) Progressive die  (B) Simple die

(©) Combination die  (P) Compound die

In a centrifugal casting method core is made
of

(A) Sand material (B) Ferrous material

(€©) Non-ferrous material

(D) No-core is used

A cycle consisting of one constant pressure,
one constant volume and two isentropic
processes is known as

(A) Carnot Cycle (B) Otto cycle

() Diesel cycle (D) Stirling cycle

The acceleration of a particle moving with
simple harmonic motion, at any instant is
given by

90.

91.

92.

93.

Frfafes & st o & s@m qga

TR B forat v WHT T4 T
$%ﬁﬁ?mwm‘eﬂjq

W gEmR R B e e T
@ g ) Pra AT

U AT F yeR WifNg ¥

(A) g1 ggref ) g geref

© 7 ¢ o1 7 (0) FIR yard

P ST TAHr

Tl s Iy ¥ ox feasr sl
St § 2

(A) T ggred ot
(O 3clte &g BT
(0) P HR YgF el Bl ©

TS 9% O @ WH 86, (& 9EH
TG 9T °F 9AF Terdl & UHH Bl
T I B AT I ded © ?

(A) BHEE T% (B) 3ifeT A

© v IB (D) wefofi1 a®
Wl JEd I FRd sY B FT FI

@v, 5l ff 9w (@) WO ey
TeReT gRT & ST € 2

(8) <ilg &g ot

(A) 3.y (B) w.y (A) @3y (B) w.y
(©) 2 y (D) 2 Iy (€) 2 y (D) »2 Iy
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%. The amount of radiation mainly depends
upon the

(A) Nature of body  (8) Temp. of the body
(©) Type of surface of the body
(D) All of these

97. The minimum force required to slide a body
of weight W on a rough Horizontal planeis
(A) W cos 8 (8) Wtan®

(©) Wcote (D) Wsin®

. The rate of change of momentum is directly
proportional to the impressed force, and
takes place in the same direction in which
the force acts. This statement is known as
(A) Newton'’s third law of motion

(B) Newton'’s first law of motion
{©) None of these

(D) Newton'’s second law of motion

2. Which of the following method can be used
for manufacturing 2 meter long seamless
metallic tubes ?

(A) Drawing
(O Rolling

(D) Extrusion and rolling

(B) Extrusion

100. Thermal conductivity of water with
rise in temperature.

(A) remains same (B) increases

(©) may increase or decrease depending

(© a¥% @ Ua8 & GHR W
©) 3 it

o fe ey M dd W, W R A

K B WA b (ol aavad A
gel B &

A W cos ¢
© W cot g

B) W tan ¢
®) W sin ¢

% HAT IR B R S W dq B
AT Bl ® 3R Swat R qa &
R & T & ¢ | ¥' T seamEr
s _

(A) 2T &1 T B gAE Fram
) e &1 T B gw Fraw
© 399 q BIE &1

O) geq =1 7fay @1 fadig faw

o = F BEN el AN 2 dex adt
Sie Med ol B TR TN F
YA B Wt & 2

W grge fafy
Q- AfeiT fafy
©) TRTgEH 3R AfeiT (AN

OFEE § gfg TR R, ue @ sshy
GEIGETI B R

(W) [ IR R | B qodt |
© qWE & FER qgd W FH AR

) TavgyH fafy

upon temp. 2l
(D) decreases O &7 adf ¥ |
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